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Sr Questions Answers Choice

1 In Pakistan, amount of rainfall in rice cultivation areas is:
A. Not enough
B. Absolutely absent
C. Very small
D. Not up to requirement

2 In Pakistan, rice cultivation is limited:
A. Up to irrigated regions
B. To un-irrigated regions
C. To rain-fed regions
D. Being cultivated in all regions

3 In the world, for rice cultivation, monsoon region is:
A. Most important
B. Not important
C. Important to some extent
D. Not veryimportant

4 In Pakistan, without irrigation facility, rice crop cultivation is:
A. Not possible
B. Easily possible
C. Very easily possible
D. Being cultivated

5 For successful rice crop 45 inches rainfall is necessary, otherwise:
A. Rice cultivation is not possible
B. Irrigation facility must be provided
C. No need of irrigation
D. Rice crop may be affected

6 For vegetative growth of rice crop:
A. 21°C temperature is most suitable
B. 35°C temperature is suitable
C. Low temperature remains suitable
D. High temperature is suitable

7 Warm and humid climate is:
A. Most suitable for rice crop
B. Not suitable for rice crop
C. Suitable for rice to some extent
D. May be suitable for rice crop

8 Husk of rice is a:
A. Very useful product
B. Not any valuable product
C. Absolutely not any useful thing
D. Valuable to some extent

9 Out of total GNP, what percentage we earn from rice crop ?
A. 1.6 percent
B. 0.6percent only
C. 5.0percent
D. 10.0percent only

10 About 3.1 percent earnings of agriculture sector:
A. comes from rice crop
B. comes from wheat crop
C. comes from cotton
D. comes from maize crop

11 Rice crop can be cultivated up to altitude of:
A. 7 thousand feet
B. 3thousand feet
C. not very high latitude
D. 10thousand feet

12 Rice grains possesses protein:
A. about 8 percent
B. 10 percent
C. in nominal amount
D. in huge quantity

13 After transplanting rice plants in the field:
A. rice crop ripen in about 100 days
B. rice crop ripen in about 50 days
C. rice crop ripen in very short time
D. rice crop ripen in 150 days

14 According to population census of 1998, urban population ratio of Islamabad is:

A. 65.6 percent

B. 70.2 percent
C. 50.5 percent
D. 90.3 percent

15 According to population census of 1998, rural population highest ratio is:
A. In N.W.F province
B. In Sindh province
C. In Punjab province
D. In Baluchistan province




